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Which of the following is formed immediately
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(B) sperm
©) zygote
ey 7,
(B embryo

A alady) ARlL Jlsud) —4

rafter fertilization?
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A aniimal has scales and uses i.‘]ll:.' its JL][]}__-'?& to exchange gases.

What is the animal most likely to be classified as?
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a fish
areptile
a mamumal

an amphibian
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The diagram below shows an example of interdependence among organisms.
During the day the organisms either use up or give off (a) or (b) as shown by the
arrows.

Choose the right answer for (a) and (b) from the alternatives given.

(&) (a) is carbon dioxide and (b) is nitrogen.
(a) is oxygen and (b) is carbon dioxide.

© (a)is carbon dioxide and (b) is water vapor.
(© (a) is carbon dioxide and (b) is oxygen.
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Which of the following animals have been on Earth for the longest period of

time?

(&) Humans
(B) Birds
©) Fish

(0) Reptiles
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(B} cell, organ, tissue, organism
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Explain wh:.- your heart beats faster when yOu exercise.
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Subject B Grade n Blockm Block Seq n

Note: A fully correct response must include the following elements relating the change in heart rate to
the physiological needs during exercise and the role of the circulatory system:
i) need for more oxygen, energy, food, waste product removal, etc., during exercise
ii) role of circulatory system (increased blood flow to meet the needs during exercise).
Partial credit is given for responses including some reference to either the physiological needs
during exercise (i) OR the circulatory system (ii).

Code ‘ Response | Item: S022289
| Correct Response
20 | Response includes BOTH elements (i) and (ii) above.
Examples:

Your heart has to pump more blood because your cells need more oxygen during exercise.
Your blood is moving faster to carry oxygen to your cells and carry away wastes.

29 | Other fully correct

| Partial Response

10 | Response includes element (1) only (need for oxygen, energy, etc., without mentioning blood
circulation).

Examples:
The body needs more oxygen and energy.
The heart pumps faster fo supply more oxygen.

11 | Response includes element (ii) only (increased blood flow without mentioning the need for
more oxygen, energy, ctc.)

Examples:

The heart pumps blood faster.

The blood flows faster.

12 | Refers to the need for air rather than oxygen (with or without mention of blood).
Examples:
When I exercise, my heart needs to pump more afr to my muscles.

19 | Other partially correct

] Incorrect Response

70 | Mentions ONLY an effect due to exercise (working hard, straining the body, speeding up of
bodily processes, breathing hard, ¢tc.) without mentioning physiological needs or blood
circulation.

Examples:

Because of the exercise, you are pushing your body.

When you exercise your pulse rate always increases.
Everything speeds up when you exercise hard.
You start breathing faster and faster.

79 | Other incorrect (including crossed out/erased, stray marks, illegible, or off task)

] Nonresponse
99 ‘ Blank
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Cells that conduct messages are known as

e
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shein cells
nerve cells
blood cells

kidney cells
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Organ X

What is organ X¢

@ liver
stomach

(©) small intestine
®

large intestine
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Fred has a packet of pea seeds that are genetically identical.
They are a variety of peas that produce tall stemmed pea plants.

He plants four pea seeds in a container in the conditions shown in Diagram 1.
He plants four more pea seeds in a container in the conditions shown in
Diagram 2. He waters the seeds every day.

dim light bright
ght

seeds
soil containing

low level

nutrients

soil containing
high level
nutrients

Diagram 2

What can be predicted about the height of the pea plants?

Explain your answer.

=
o
x
S
A
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subject [JEI crace R 5o EZMN Biock s« [HEEN

Code | Response [ Item: S042310
| | Correct Response
20 | Predicts that plants in diagram 2 may grow taller than plants in diagram 1. Explanation refers to

BOTH light and nutrients.

Examples:

The height of the pea plants will be higher in the second conlainer. The bright light will give the
plants energy and the nutrients in the soil will help the peas grow.

I predict that the peas in diagram 2 will grow higher. It has maore nutrients and more light.

. Partially Correct Response
10 | Predicts that plants in diagram 2 may grow taller than plants in diagram 1. Explanation refers to
light OR nutrients OR mentions that diagram 2 has more basic necessities.
Examples:
Diagram 2 will grow taller, This is because it has more light and plants make food using light.
The pea plants with the bright light shining on them will grow faster than the pea seeds with the
dim light.
The peas will grow taller in diagram 2 because there are more nutrients to help with growth.

Diagram 2 has more basic necessities than diagram 1.

u Incorrect Response
70 | Predicts that plants in diagram 1 may grow taller than plants in diagram 2. Explanation refers to |
alow intensity of light causing spindly (leggy) growth.
Examples:
The pea plants under dim light grow a long stem because of the dim light.

79 | Other incorrect (including crossed out, erased, stray marks, illegible, or off task)

I:l Nonresponse

99 | Blank
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A city was built for half a million people, but now its pupu];thnn 1% ]1r<'dn ted to
increase to 1 million over the next 10 years.

Describe two environmental problems that the city might face because of the
increasing population.

1.
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Note: i) Accepted environmental problems faced by the city are:
Increased (air) pollution (due to such things as increased exhaust fumes)
Increased noise pollution
]ﬂ{.'r ‘El,‘iL‘tI wasle
Lack of (clean) water (water pollution)
Lack of waste disposal facilities
Increased diseases (or spread of diseases)
Lack of space for living (overcrowding) - including destruction of "green” spaces

ii) If responses mention lack of food, code as incorrect.

Code | Response Item: 5042052
| Correct Response

20 | Mentions two environmental problems.

Examples:
. Air pollution would be a problem, 2. Water pollution would be another factor.
1. Pollution and exhaust. 2. No space.

| | Partially Correct Response

10 | Mentions one environmental problem.
Examples:
1. Lack of food (incorrect). 2. More waste produced (correct).
. Increased spread of diseases (correct). 2. Not enough jobs (incorrect).
U Incorrect Response
79 . Incorrect (including crossed out, erased, stray marks, il]vgib](‘, or off task)

| | Nonresponse

99 | Blank
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